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SAMPLEOF CALCULATION

AMD
In case of monthly payment of the interest

60 days’ 120days’ tenor 210 days’ 370days’ tenor 600 days’ tenor 750 days’tenor
tenor 6.25% per tenor 9.00% 9.25% per 9.25%
5.3% per annum 8.00% perannum annum perannum

annum perannum

placeddeposit
accruedinterest
placeddeposit
accruedinterest
placeddeposit
accruedinterest
placeddeposit
accruedinterest
placeddeposit
accruedinterest
placeddeposit
accruedinterest

500,000]| 3,920( 500,000 | 9,246.6| 500,000| 20,712.| 500,000 | 41,054.| 500,000 | 68,424.| 500,000 | 85,530.
0 0 30 80 7 8

In case of quarterly payment of interest

210days’tenor 370days’ tenor 9.10% 600 days’ tenor 750 days’tenor
8.10% per annum perannum 9.35% perannum 9.35% perannum
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500,000 20,971.20 | 500,000 41,511 500,000 69,164.4 | 500,000 86,455.50
0
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In case of payment of interest at the end of tenor

60days’ 120days’ tenor thzgsgls 370days’tenor 600days’ 750 days’ tenor

tenor 6.50% 9.25% tenor 9.5% per 9.5%

8.50%
5.5% perannum perannum annum perannum

perannum perannum

placeddeposit
accruedinterest
placeddeposit
accruedinterest
placeddeposit
accruedinterest
placeddeposit
accruedinterest
placeddeposit
accruedinterest
placeddeposit
accruedinterest

500,014,068.| 500,000 [ ¢ g16.| 500,000 |22,006.90 (500,00(42,195. (500,000 70,274 500,000

87,842.50
00 50 40 0 20

usD
In case of monthly payment of the interest

G?GC:]?;S 120 days’tenor 210days’tenor 370days’ tenor 600 days’ tenor 750 days’tenor
0.90% 1.90% 3.0% 4.10% 4.20% 4.30%
IL70 perannum perannum perannum perannum perannum
perannum
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2,000 2.66 2,000 11.24 2,000 31.07 2,000 74.81 2,000 124.27 2,000 159.04
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In case of quarterly payment of interest

600 days’ tenor 750 days’ tenor

210days’ tenor 370 days’ tenor

0 0
3.15% perannum 4.15% per annum 2 4.35%
perannum perannum
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2,000 32.62 2,000 75.72 2,000 125.75 2,000 160.89

In case of payment of the interest at the end of tenor

G(é)ec:%;s 120 days’tenor 210days’tenor 370days’ 600 days’tenor 750 days’ tenor
1.00% 2.00% 3.30% tenor4.3% 4.40% 4.50%
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perannum
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2,000 2.96 2,000 11.84 2,000 34.18 | 2,000 | 78.46 2,000 130.19 | 2,000 166.44

EUR

In case of monthly payment of interest

60 days’ tenor 750 days’ tenor

120 days’ tenor

300 days’ tenor 1.3% per | 370 days’ tenor 2.1% per 600 days’ tenor 2.3% per

0.2% per annum . 2.55% per
.5% per annum annum annum annum R
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47.1

1,000 0.30 1,000 1.48 1,000 9.62 1,000 19.16 1,000 34.03 1,000 6
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In case of quarterly payment of interest

300 days’tenor 370days’tenor 600 days’tenor 750 days’ tenor
1.35% 2.15% 2.35% 2.6%
perannum perannum perannum perannum
= %) = %) = %) = %)
@ o @ o @ o @ o
a 3} 2 < 2 i 8 i
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1,000 9.99 1,000 19.62 1,000 34.77 1,000 48.08

In case of payment of the interest at the end of the tenor

60 days’ tenor 120 davs' 300 days’ 370 davs’ 600 davs’ 750 days’ tenor
0.25% per annum S BT tenor 1.50% B e BB IS 2.75% per annum
0.75% per annum 2.25% perannum  2.5% per annum
per annum
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1,000 0.37 1,000 2.22 00 11.10 1,000 20.53 1,000 36.99 1,000 | 50.86

In case of monthl

60 davs’ tenor 120days’ tenor 210days’tenor 370days’tenor 600 days’ tenor 750days’
y 4.0% 4.75% 5.5% 5.75% tenor6.0%
3.0% perannum
perannum perannum perannum perannum perannum
= 1] = D = D = 1) = D = 17
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100,000 443.84( 100,000 | 1,183.5| 100,000 [ 2,459.5| 100,000 | 5,017.8( 100,000 | 8,506.8( 100,000 |11,095
6 9 1 5 .89

RUB

payment of the interest
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210days’tenor 370days’tenor 600 days’tenor 750 days’ tenor
4.85% 5.60% 5.85% 6.1%
perannum perannum perannum perannum

= g7 = g7 = 17 = 17
%) @ 0 o %) o ) o
a g 2 i 2 o} 2 (3
kS = 9 £ 9 = 9 1=
S g S 9 S 9 S

2 > 2 > 2 > 2 >
K] [ < &} < [} < 3]
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100,000 2,511 100,000 5,109.04 100,000 8,654.79 100,000 11,280.82

In case of payment of the interest at the end of
tenor

60 days’ tenor 120 days’tenor 210days’ tenor 370days’tenor 600 days’tenor 750 days’ tenor
3.25% 4.25% 5.00% 5.75% 6.00% 6.25%

perannum perannum perannum perannum perannum perannum

placeddeposit
accruedinterest
placeddeposit
accruedinterest
placeddeposit
accruedinterest
placeddeposit
accruedinterest
placeddeposit
accruedinterest
placeddeposit
accruedinterest

100,000 | 480. | 100,000 | 1,257.| 100,000 | 2,589.0( 100,000 | 5,245 | 100,000 | 8,876.| 100,000 | 11,558.
82 3 4 71 22

Atthe Depositor’s request interest amounts denominated in foreign currency are paid in AMD, at the average
exchange rate fixedin RA currency market onthe day preceding the interest payment day.
- Inthe calculations the year is 365 days and interests are calculated taking into account the income tax.



